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Chip 0 Vt50 at 2.00fC Nent = 128    
 0.1425 ±Constant = 1.257 

 1.859 ±Mean     = 102.9 

 1.569 ±Sigma    = 20.27 

Chip 0 Vt50 at 2.00fC Nent = 128    
 0.1425 ±Constant = 1.257 

 1.859 ±Mean     = 102.9 

 1.569 ±Sigma    = 20.27 
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Chip 1 Vt50 at 2.00fC Nent = 128    
 0.3502 ±Constant = 3.209 

 0.7005 ±Mean     = 129.1 

 0.4959 ±Sigma    = 7.895 
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 0.3502 ±Constant = 3.209 

 0.7005 ±Mean     = 129.1 

 0.4959 ±Sigma    = 7.895 
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Chip 2 Vt50 at 2.00fC Nent = 128    
 0.3254 ±Constant = 2.995 

 0.7506 ±Mean     = 128.2 

 0.5306 ±Sigma    = 8.459 

Chip 2 Vt50 at 2.00fC Nent = 128    
 0.3254 ±Constant = 2.995 

 0.7506 ±Mean     = 128.2 

 0.5306 ±Sigma    = 8.459 
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Chip 3 Vt50 at 2.00fC Nent = 128    
 0.3867 ±Constant = 3.559 

 0.6317 ±Mean     = 130.8 
 0.4467 ±Sigma    = 7.119 

Chip 3 Vt50 at 2.00fC Nent = 128    
 0.3867 ±Constant = 3.559 

 0.6317 ±Mean     = 130.8 
 0.4467 ±Sigma    = 7.119 
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Chip 4 Vt50 at 2.00fC Nent = 128    
 0.3747 ±Constant = 3.449 

 0.6518 ±Mean     = 127.4 
 0.4608 ±Sigma    = 7.345 

Chip 4 Vt50 at 2.00fC Nent = 128    
 0.3747 ±Constant = 3.449 

 0.6518 ±Mean     = 127.4 
 0.4608 ±Sigma    = 7.345 
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Chip 5 Vt50 at 2.00fC Nent = 128    
 0.334 ±Constant = 3.074 

 0.7314 ±Mean     = 129.2 
 0.517 ±Sigma    = 8.242 

Chip 5 Vt50 at 2.00fC Nent = 128    
 0.334 ±Constant = 3.074 

 0.7314 ±Mean     = 129.2 
 0.517 ±Sigma    = 8.242 
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Chip 0 Gain at 2.00fC Nent = 128    

 0.2935 ±Constant = 2.711 
 0.8323 ±Mean     = 43.58 
 0.5885 ±Sigma    = 9.417 

Chip 0 Gain at 2.00fC Nent = 128    

 0.2935 ±Constant = 2.711 
 0.8323 ±Mean     = 43.58 
 0.5885 ±Sigma    = 9.417 
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Chip 1 Gain at 2.00fC Nent = 128    

 2.295 ±Constant = 21.12 
 0.1064 ±Mean     = 56.96 
 0.07526 ±Sigma    = 1.199 

Chip 1 Gain at 2.00fC Nent = 128    

 2.295 ±Constant = 21.12 
 0.1064 ±Mean     = 56.96 
 0.07526 ±Sigma    = 1.199 
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Chip 2 Gain at 2.00fC Nent = 128    

   2.3 ±Constant = 21.46 
 0.1047 ±Mean     = 55.56 
 0.07391 ±Sigma    = 1.181 

Chip 2 Gain at 2.00fC Nent = 128    

   2.3 ±Constant = 21.46 
 0.1047 ±Mean     = 55.56 
 0.07391 ±Sigma    = 1.181 
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Chip 3 Gain at 2.00fC Nent = 128    
 2.237 ±Constant = 20.58 

 0.1092 ±Mean     = 57.33 

 0.07723 ±Sigma    = 1.231 

Chip 3 Gain at 2.00fC Nent = 128    
 2.237 ±Constant = 20.58 

 0.1092 ±Mean     = 57.33 

 0.07723 ±Sigma    = 1.231 
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Chip 4 Gain at 2.00fC Nent = 128    
 2.341 ±Constant = 21.63 

 0.1043 ±Mean     = 56.28 

 0.07378 ±Sigma    =  1.18 

Chip 4 Gain at 2.00fC Nent = 128    
 2.341 ±Constant = 21.63 

 0.1043 ±Mean     = 56.28 

 0.07378 ±Sigma    =  1.18 
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Chip 5 Gain at 2.00fC Nent = 128    
 2.065 ±Constant =    19 
 0.1183 ±Mean     = 59.75 

 0.08365 ±Sigma    = 1.333 

Chip 5 Gain at 2.00fC Nent = 128    
 2.065 ±Constant =    19 
 0.1183 ±Mean     = 59.75 

 0.08365 ±Sigma    = 1.333 
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Chip 0 Extrapolated Offset Nent = 128    
 0.9459 ±Constant = 8.738 

 0.8265 ±Mean     = 15.47 
 0.5844 ±Sigma    = 9.351 

Chip 0 Extrapolated Offset Nent = 128    
 0.9459 ±Constant = 8.738 

 0.8265 ±Mean     = 15.47 
 0.5844 ±Sigma    = 9.351 
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Chip 1 Extrapolated Offset Nent = 128    
 1.103 ±Constant = 10.19 

 0.7088 ±Mean     = 14.32 
 0.5012 ±Sigma    = 8.019 

Chip 1 Extrapolated Offset Nent = 128    
 1.103 ±Constant = 10.19 

 0.7088 ±Mean     = 14.32 
 0.5012 ±Sigma    = 8.019 
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Chip 2 Extrapolated Offset Nent = 128    
 1.027 ±Constant =  9.49 

 0.7609 ±Mean     = 17.15 
 0.538 ±Sigma    = 8.609 

Chip 2 Extrapolated Offset Nent = 128    
 1.027 ±Constant =  9.49 

 0.7609 ±Mean     = 17.15 
 0.538 ±Sigma    = 8.609 
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Chip 3 Extrapolated Offset Nent = 128    

 1.213 ±Constant =  11.2 
 0.6446 ±Mean     = 15.64 
 0.4558 ±Sigma    = 7.293 

Chip 3 Extrapolated Offset Nent = 128    

 1.213 ±Constant =  11.2 
 0.6446 ±Mean     = 15.64 
 0.4558 ±Sigma    = 7.293 
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Chip 4 Extrapolated Offset Nent = 128    

 1.225 ±Constant = 11.27 
 0.6382 ±Mean     = 14.69 
 0.4512 ±Sigma    = 7.192 

Chip 4 Extrapolated Offset Nent = 128    

 1.225 ±Constant = 11.27 
 0.6382 ±Mean     = 14.69 
 0.4512 ±Sigma    = 7.192 
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Chip 5 Extrapolated Offset Nent = 128    

 1.179 ±Constant = 10.85 
 0.6629 ±Mean     = 8.606 
 0.4687 ±Sigma    =  7.47 

Chip 5 Extrapolated Offset Nent = 128    

 1.179 ±Constant = 10.85 
 0.6629 ±Mean     = 8.606 
 0.4687 ±Sigma    =  7.47 
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Chip 0 Input Noise at 2.00fC Nent = 128    
 4.837 ±Constant = 44.68 

 3.368 ±Mean     =  1331 

 2.381 ±Sigma    =  38.1 

Chip 0 Input Noise at 2.00fC Nent = 128    
 4.837 ±Constant = 44.68 

 3.368 ±Mean     =  1331 

 2.381 ±Sigma    =  38.1 
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Chip 1 Input Noise at 2.00fC Nent = 128    
  6.87 ±Constant = 63.19 

 2.371 ±Mean     =  1399 

 1.678 ±Sigma    = 26.73 

Chip 1 Input Noise at 2.00fC Nent = 128    
  6.87 ±Constant = 63.19 

 2.371 ±Mean     =  1399 

 1.678 ±Sigma    = 26.73 

Input Noise (ENC)0 500 1000 1500 2000 2500

n
(C

h
an

n
el

s)

0

10

20

30

40

50

Chip 2 Input Noise at 2.00fC Nent = 128    
 5.925 ±Constant = 54.51 

 2.749 ±Mean     =  1466 

 1.944 ±Sigma    = 30.98 

Chip 2 Input Noise at 2.00fC Nent = 128    
 5.925 ±Constant = 54.51 

 2.749 ±Mean     =  1466 

 1.944 ±Sigma    = 30.98 
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Chip 3 Input Noise at 2.00fC Nent = 128    

 6.218 ±Constant = 57.21 
 2.619 ±Mean     =  1404 
 1.852 ±Sigma    = 29.52 

Chip 3 Input Noise at 2.00fC Nent = 128    

 6.218 ±Constant = 57.21 
 2.619 ±Mean     =  1404 
 1.852 ±Sigma    = 29.52 
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Chip 4 Input Noise at 2.00fC Nent = 128    

 5.843 ±Constant = 53.98 
 2.787 ±Mean     =  1439 
 1.971 ±Sigma    = 31.53 

Chip 4 Input Noise at 2.00fC Nent = 128    

 5.843 ±Constant = 53.98 
 2.787 ±Mean     =  1439 
 1.971 ±Sigma    = 31.53 
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Chip 5 Input Noise at 2.00fC Nent = 128    

  4.93 ±Constant = 45.54 
 3.304 ±Mean     =  1317 
 2.336 ±Sigma    = 37.38 

Chip 5 Input Noise at 2.00fC Nent = 128    

  4.93 ±Constant = 45.54 
 3.304 ±Mean     =  1317 
 2.336 ±Sigma    = 37.38 
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Chip 0 Vt50 at 2.00fC Nent = 128    
 0.3142 ±Constant = 2.891 

 0.7805 ±Mean     = 132.3 

 0.5524 ±Sigma    = 8.831 

Chip 0 Vt50 at 2.00fC Nent = 128    
 0.3142 ±Constant = 2.891 

 0.7805 ±Mean     = 132.3 

 0.5524 ±Sigma    = 8.831 
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Chip 1 Vt50 at 2.00fC Nent = 128    
 0.3694 ±Constant = 3.399 

 0.6614 ±Mean     = 128.8 

 0.4676 ±Sigma    = 7.453 

Chip 1 Vt50 at 2.00fC Nent = 128    
 0.3694 ±Constant = 3.399 

 0.6614 ±Mean     = 128.8 

 0.4676 ±Sigma    = 7.453 
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Chip 2 Vt50 at 2.00fC Nent = 128    
 0.2834 ±Constant = 2.618 

 0.8619 ±Mean     = 129.7 

 0.6094 ±Sigma    = 9.751 

Chip 2 Vt50 at 2.00fC Nent = 128    
 0.2834 ±Constant = 2.618 

 0.8619 ±Mean     = 129.7 

 0.6094 ±Sigma    = 9.751 

Vt50 (mV)90 100 110 120 130 140 150 160 170 180

n
(C

h
an

n
el

s)

0

1

2

3

4

5

6

Chip 3 Vt50 at 2.00fC Nent = 128    
 0.3534 ±Constant = 3.252 

 0.6913 ±Mean     = 129.6 
 0.4888 ±Sigma    = 7.791 

Chip 3 Vt50 at 2.00fC Nent = 128    
 0.3534 ±Constant = 3.252 

 0.6913 ±Mean     = 129.6 
 0.4888 ±Sigma    = 7.791 
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Chip 4 Vt50 at 2.00fC Nent = 128    
 0.331 ±Constant = 3.045 

 0.7381 ±Mean     =   132 
 0.5219 ±Sigma    = 8.318 

Chip 4 Vt50 at 2.00fC Nent = 128    
 0.331 ±Constant = 3.045 

 0.7381 ±Mean     =   132 
 0.5219 ±Sigma    = 8.318 
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Chip 5 Vt50 at 2.00fC Nent = 128    
 0.3599 ±Constant = 3.324 

 0.6789 ±Mean     = 128.4 
 0.4801 ±Sigma    = 7.681 

Chip 5 Vt50 at 2.00fC Nent = 128    
 0.3599 ±Constant = 3.324 

 0.6789 ±Mean     = 128.4 
 0.4801 ±Sigma    = 7.681 
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  1.77 ±Constant = 16.35 
 0.138 ±Mean     = 59.71 
 0.09758 ±Sigma    = 1.561 
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  1.77 ±Constant = 16.35 
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 2.186 ±Constant = 20.12 
 0.1117 ±Mean     = 57.52 
 0.07901 ±Sigma    = 1.259 
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 2.186 ±Constant = 20.12 
 0.1117 ±Mean     = 57.52 
 0.07901 ±Sigma    = 1.259 
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 1.696 ±Constant = 15.61 
 0.144 ±Mean     = 57.24 
 0.1018 ±Sigma    = 1.623 
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 1.696 ±Constant = 15.61 
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 0.1018 ±Sigma    = 1.623 
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 1.958 ±Constant = 18.01 

 0.1248 ±Mean     = 57.27 

 0.08824 ±Sigma    = 1.406 
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 1.958 ±Constant = 18.01 

 0.1248 ±Mean     = 57.27 

 0.08824 ±Sigma    = 1.406 
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 2.051 ±Constant = 18.87 

 0.1191 ±Mean     = 60.87 

 0.08423 ±Sigma    = 1.342 
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 2.051 ±Constant = 18.87 

 0.1191 ±Mean     = 60.87 

 0.08423 ±Sigma    = 1.342 
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 2.321 ±Constant = 21.44 
 0.1052 ±Mean     = 57.49 

 0.07442 ±Sigma    = 1.191 
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 2.321 ±Constant = 21.44 

 0.1052 ±Mean     = 57.49 

 0.07442 ±Sigma    = 1.191 
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 1.194 ±Constant = 11.03 

 0.6545 ±Mean     = 12.24 
 0.4628 ±Sigma    = 7.405 
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 1.194 ±Constant = 11.03 

 0.6545 ±Mean     = 12.24 
 0.4628 ±Sigma    = 7.405 
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 1.226 ±Constant = 11.28 

 0.6376 ±Mean     = 13.79 
 0.4508 ±Sigma    = 7.186 
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 1.226 ±Constant = 11.28 
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 1.011 ±Constant =  9.34 

 0.7732 ±Mean     = 15.85 
 0.5467 ±Sigma    = 8.748 
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 1.011 ±Constant =  9.34 

 0.7732 ±Mean     = 15.85 
 0.5467 ±Sigma    = 8.748 
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 1.311 ±Constant = 12.07 
 0.5961 ±Mean     = 15.28 
 0.4215 ±Sigma    = 6.718 
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 1.311 ±Constant = 12.07 
 0.5961 ±Mean     = 15.28 
 0.4215 ±Sigma    = 6.718 
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 1.196 ±Constant =    11 
 0.6537 ±Mean     = 9.689 
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 1.196 ±Constant =    11 
 0.6537 ±Mean     = 9.689 
 0.4622 ±Sigma    = 7.367 
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 1.224 ±Constant =  11.3 
 0.6388 ±Mean     = 14.12 
 0.4517 ±Sigma    = 7.228 
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 1.224 ±Constant =  11.3 
 0.6388 ±Mean     = 14.12 
 0.4517 ±Sigma    = 7.228 
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Chip 0 Input Noise at 2.00fC Nent = 128    
 4.734 ±Constant = 43.56 

  3.44 ±Mean     =  1324 

 2.433 ±Sigma    = 38.77 

Chip 0 Input Noise at 2.00fC Nent = 128    
 4.734 ±Constant = 43.56 

  3.44 ±Mean     =  1324 

 2.433 ±Sigma    = 38.77 
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Chip 1 Input Noise at 2.00fC Nent = 128    

 4.839 ±Constant = 44.53 
 3.366 ±Mean     =  1395 

  2.38 ±Sigma    = 37.93 
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 4.839 ±Constant = 44.53 

 3.366 ±Mean     =  1395 

  2.38 ±Sigma    = 37.93 
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 4.505 ±Constant = 41.62 

 3.615 ±Mean     =  1477 

 2.556 ±Sigma    =  40.9 
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 4.505 ±Constant = 41.62 

 3.615 ±Mean     =  1477 

 2.556 ±Sigma    =  40.9 
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 5.007 ±Constant = 46.26 
 3.253 ±Mean     =  1454 
   2.3 ±Sigma    =  36.8 
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 5.007 ±Constant = 46.26 
 3.253 ±Mean     =  1454 
   2.3 ±Sigma    =  36.8 
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Chip 4 Input Noise at 2.00fC Nent = 128    

 5.509 ±Constant = 50.69 
 2.956 ±Mean     =  1347 
  2.09 ±Sigma    = 33.32 
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 5.509 ±Constant = 50.69 
 2.956 ±Mean     =  1347 
  2.09 ±Sigma    = 33.32 
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 5.409 ±Constant = 49.97 
 3.011 ±Mean     =  1413 
 2.129 ±Sigma    = 34.06 

Chip 5 Input Noise at 2.00fC Nent = 128    

 5.409 ±Constant = 49.97 
 3.011 ±Mean     =  1413 
 2.129 ±Sigma    = 34.06 
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